UT-ECS-RANGE 2
Rev. 06/08
INSTRUCTIONS

Range Inventory Form

1. Plant Group Percentages – fill out the percentage for each of the major growth forms (Grasses, Forbs, and Shrubs).  Must equal 100%.

2. Symbol/Plant Name - List the common name or scientific plant symbol 

3. % Present by Weight - For Ocular Estimation: Show % by air-dry weight or lbs of green weight of the total annual yield that each plant presently comprises.  For Clipping: Show the clipped green weight for each species in lbs/ac, not %.  To get lbs/ac of green weight clip all of the vegetation that is inside one of the following standard plot sizes, and multiply the weight in grams by the conversion factor listed to get lbs/ac. Note:  Most clipping should be done using a RANGE-417 form.
	Plot Size (sq ft)
	Grams to Lbs/ac conversion
	Instructions

	435 (100th acre)
	0.22
	Use a string, wire or tape that is 11.75 feet long as the radius of a circular plot

	96
	1
	Use a tape, string or wire that is 5.5 feet long as the radius of a circular plot

	9.6
	10
	Use a standard 9.6 square foot hoop (11 foot circumference)

	2.4
	40
	Use a standard 9.6 sq ft hoop folded in half (5.5 foot circumference)

	1.07
	90
	Use a standard 9.6 sq ft hoop folded in thirds (3.6 foot circumference)


4. % Dry Weight - Enter the percent air dry weight or oven dry weight as a decimal value.  Use this column only if you use green weight in Column 3.
5. lbs/ac Dry Weight - For Ocular Estimation: Multiply column 3 (% Present by Weight) by field 13 (Total Annual Production)  For Clipping: Multiply column 3 (% Present by green Weight) by column 4 (% Dry Weight)

6. Reconstruction Factor – You may need to reconstruct the production of some species on the site if they have been grazed, the total annual growth is not yet complete, or if production has been affected by climactic factors.  The reconstruction factor is calculated by multiplying (X) Percent Current Growth Ungrazed times (Y) Percent Growth Curve Completed times (P) Percent of Normal Production from the right column, first block on the UT-ECS-RANGE 2.  (X * Y * P = Column 6 (Reconstruction Factor).  Percent normal production may be different for different species.  See NRPH 4-8, 4-23
7. Reconstructed Dry Weight (lbs/ac) - This value is calculated by dividing column 5 (lbs/ac dry weight) by column 6 (Reconstruction Factor).  See NRPH 4-8, 4-23
8. Total Forage Production - the annual production (dry wt) of plant species that are forage plants for the animals using the forage.  See NRPH 4-3
9. Proper Use Factor - Show the % that each species would be used to achieve proper grazing use of the plants in the plant community.  For guidance in making this determination see NRPH 5.1-8

10. lbs/ac Climax from ESD – List the lbs of species shown in the historic plant community table from the Ecological Site Description.  See NRPH 4-17 through 4-22.
11. lbs/ac Allowable from ESD - Enter the lesser of column 7 (Reconstructed Dry Weight) or column 10 (lbs/ac Climax from ESD) for each plant species as shown in the site description.  No more than the pounds in the Historic Climax Plant Community from the ESD may be counted in determining similarity index.  See NRPH 4-17 through 4-22.

12. This is the total of all weight shown in column 11 (lbs/ac Allowable from ESD).  It is the total weight that is allowed to count toward determining similarity index.

13. Total Annual Yield (lbs/ac) - This is the total annual yield in lbs/ac of the existing vegetation on the site.  It must equal the sum of the weights found in Column 7 (Reconstructed Dry Weight lbs/ac).  If it is a woodland site, it is the total production of the understory below 4.5 feet.

14. Average Annual Yield (from the ESD) – Show the average annual production in lbs/ac from the Ecological Site Description.
15. This is calculated by dividing field 12 (total of all weight shown in column 11 (lbs/ac Allowable from ESD)) by field 14 (Average Annual Yield from the ESD) and multiplying by 100 to express it as a percent.  (12 / 14 x 100 = SI)
